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Example for Section 6

A certain family has three brothers:  Alan, Bob, and Chris.  Consider the following statements, abbreviated by letters A, B, and C.

A:  Alan plays football.  B:  Bob plays football.  C:  Chris plays football.

Translate each of the following sentences into symbolic form.  What can you deduce about the truth of statement A?  Statement B?

1. At least one of the brothers plays football.

2. If Alan plays football, then Chris does not play football.

3. Either Chris doesn't play football, or Bob does play football (or both).

4. It is not true that Chris doesn't play football.

